Addition and Subtraction of Length

1. Write in vertical form and then find the sum.

a. 47m 579cm and 13m 185cm b. 26m 29cm and 12m 50cm
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c. 7m 26cm and 15m 280cm d. 50m 10cm and 10m 90cm
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2. Write in vertical form and then find the subtraction.

b. 12m 165cm from 40m 579cm b. 12m 29cm from 28m 50cm
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d. 5m 20cm from 8m 25cm d. 40m 10cm from 60m 20cm
4 N\ 4 I
\ / \ /




3. Add the numbers in Column A and then match them with numbers in Column B.

Column A Column B

a. 50km 89m

+ 56km 48m i.) 136km 865m
b. 50km 350m

+ 58km 280m ii.) 108km 630m
c. 86km 385m

+ 50km 480m iii.) 155km 275m
d. 96km  25m \

+ 59km 250m iv.) 107km 37m




